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QUESTION 1

What is the hard-coded Ethernet IP address of the SPB service port on a CX4?
A.128.221.1.251

B. 128.122.2.251

C. 128.221.1.250

D. 128.122.2.250

Correct Answer: A

QUESTION 2

A customer has finished configuring the zoning on their MDS switch. What would be the result of the following
command?

zoneset activate name ActiveZS vsan 100

A. Activates the zoneset named ActiveZS on VSAN 100
B. Creates the zoneset named ActiveZS on VSAN 100
C. Creates and activates VSAN 100

D. VSAN 100 is named ActiveZS

Correct Answer: A

QUESTION 3

Security is a major concern for a customer who purchased a CX4, so they implemented LDAP authentication. During a
LUN migration from LUN 6 to LUN 7 the following start command failed due to a wrong scope value.

naviseccli migrate —start —source 6 —dest 7 —rate low —user myname —scope 3 —password mypass
Which scope value should have been used?

A 2

B.1

C.0

D.4

Correct Answer: A
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QUESTION 4

When using PowerPath, what feature on a LUN must be disabled?
A. Enable Auto Assign

B. No Initial Verify

C. FAST Cache

D. Enable Caching

Correct Answer: A

QUESTION 5

What are the requirements for a metaLUN stripe expansion?

a. All participating LUNs must be the same size and RAID type.

b. All participating LUNs must be owned by the same SP.

c. All participating disks in any of the LUNs must be the same type.

d. All participating disks must belong to the same disk array enclosure.
A.aandc

B.bandc

C.aandd

D.candd

Correct Answer: A
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